5km 50m~59mB T

NEGZ |t -h-F  |K4& WEFE |[BhHsa  |FE Time
1 1320|t B— MHEE KXW\ |4 7Y v oA |00:1921"
2 1301H Bt =2HE  [ZEES 00:19'31"
3 1306){zpk M= =R E=A8m 00:20'35"
4 1311|&E Bk =R E=A8m — D 00:21'05"
5 13045 ! =2HE |&EHm |SCK 00:22'57"
6 1308| =18 Fkak =R SEHHT 00:23'11"
7 1303|A+E EBE— |=HE ile®m  (uiam 00:25'52"
8 1318|F# —7k =R RANHET TME J 00:28'38"
9 1302|%8 Ih =2HE  [ZEES 00:29'41"
10 1310|ElR &% =R = NIl 00:32'04"
11 1305/ = =R EEH  |mEoALA 00:32'50"
12 1316|=1E L =R BA™ 00:33'54"
13 1307|%)Il F =R lla™ 00:35'09"
14 1315 KA =R BA™ SCK 00:35'22"
15 1317|BaER kst =R lla™ 00:42'32"
16 1319|186 ®AF =R lla™ FCRC 00:42'34"




